5 lots 10 lots

Write down how many objects Write down how many objects
are in 5 lots. are in 10 lots.

o 5 lots Gf% o 10 lots mvf&> — C:.:unt up in tens to
Count up in fives to

find the answers.

hd find the answers. 9
I -
eSIﬂtsm"% I IUlﬂtSDf@ﬂ@ﬂ

elﬁlutscuf///=
o 10 lots nfiiii=

OSIﬂtsuf\*%—%— ¥2 ¥R =
65101:5 nf@@@@@=

O:coDRD-

o 5 lots uf@%ﬁm@
R IR <R

© 10100 of £7 69 57 6 9 -

BRCISICICICE
SICISISIE




10 times table Doubling challenge

Fill in the missing numbers. Fill in the missing numbers.

Put a zero on the : Use your

o 0 X = 80 end wh:: r;u times o Double *- 4 Zb::;:r ;::;Tnvf‘:::lk
e 2 X 0 = e Beoukla * 10 the answer.
e 0 x = 90 e Double = 6
o 3 x 10 = o Double = 20
e o x 10 = e Double == 8
o x 10 = 40 o Double = |2
o x 10 = 10 o Double P 24
o 5 x 10 = 0 Double mp |6
o 0 x = 120 9 Double = 2

x 10 = 60 Double P |4
@D o « 7 = & pouble = 22
@ x 10 = 10 @ Double = |8
@ 10 x = 20 @ doubled == 10
@ x 4 = 40 @ doubled =l 4
@ g A Ik = @ doubled = 20
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Problems: 5 times table

Write the answers to the questions.

Emily has 5 bowls. Look for

She puts 3 strawberries in each bowl. :‘he numbers
in the words

problems.

How many strawberries are

in the bowls altogether?

9?35=

e Aisha has 4 party bags.
There are 5 balloons in each bag.

How many balloons are

there in total?

os::zz

o Leo picks 5 roses from each rose bush.
If there are 6 bushes, how many

roses does Leo pick?

GSH =125

o There are 5 buses in a row.

Each bus has |1 people on it.
How many people are

there in total?

09:{5:

e What is 5 times 127
8 x =40

Problems: 10 times table

Write the answers to the questions.

Read the
Ludgbirds have 6 spots. word problems
Hassab finds 10 ladybirds in his garden. BT A LR T
How many spots are out what numbers

to times.

there altogether?

€ ox3-

Max buys 10 stickers.
If each sticker costs 5 p, how

much does Max spend? p

e One plant costs 10 p. *, ')
How much do 10 plants cost? P
e x [l =110

o A flower has 4 petals.
How many petals in a

bunch of 10 flowers?

0 What is 10 times 127

QIUH =50

Esha uses 10 beads to make a bracelet.
If she makes 8 bracelets, how

many beads will she use?
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